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Tick (') the correct answer.

1.

All functions of the human body are controlled by:

a heart

ay/ Pine

What anchors the plant in the soil?

ay/” Roots

by brain

Which one of the following is a non-flowering plant?

b

b

Rose

Stem
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What chemical is present in leaves, that helps the plant to make their own food?

a Nectar

n All vertebrates have:

a fur on their body

¢/ backbones

2. Write the functions of the given body organs.

by Chlorophyll

@

b
d

Oxygen d

wings

more than four legs

Carbon Dioxide

3. Match the parts of a plant in column A with their functions in column B.

Ve

N

Column A
\. J
4 N\
Roots
g J
4 1\
Stem
NG J
4 N\
Leaves
NG J
4 N
Flowers
_ J

12

Ve

|\
(

Column B
<
grow into fruits and seeds.
g J
4 N\
absorb minerals and also
water from soil.
NG J
4 N
supports the plants above
the ground.
NG J
4 )
produce food for plant.
_ J




4. Write short answers.

Write any three characteristics of living things.
Ans: Three characteristics of living things are:

1. Living things need food to stay alive.

2. Living things breathe.
3. Living things grow in size.
What is the difference between vertebrates and invertebrates?
Ans: Vertebrates are animals which have vertebral column or backbone while invertebrates

are animals which do not have vertebral column or backbone.

What is the importance of chlorophyll in leaves?
Ans: Chlorophyll helps plants to prepare food, by using sunlight, carbon dioxide and water.

Differentiate between flowering and non-flowering plants.

Ans: Flowering Plants
These are type of plants that produce flowers.
Non-Flowering Plants

These plants do not produce flowers.

What is biodiversity?
Ans: Biodiversity is variety of living things present in a particular place or region.
5. Write detailed answers.

Describe the functions of roots and stem.

Ans: Roots
Roots usually develop under the ground inside soil. Its branches spread in all directions.
Roots help to anchor plant into the ground. Roots absorb water and mineral salts
from the soil. Without roots, a plant cannot stand upright.
Stem
Stem usually grows above the ground. It helps the plant to stand upright. A stem has many
branches. Stem carries water and minerals from the roots to the leaves and carries food
prepared by the leaves to different parts of plant. In bigger trees, it is thick, very hard and

brown in colour. In small plants, it is soft and green in colour.
13



Explain the importance of diversity of life and suggest ways to protect it.

Ans: Ways for Protection of Biodiversity

Ans:

Biodiversity can be protected in the following ways:

All the varieties of plants, animals or livestock, should be conserved.
Pollution should be reduced to the possible extent.

Hunting of wild animals should be prevented and banned effectively.

Water should be used with due care.

Natural habitats should be protected by discouraging the cutting of trees.
People should be encouraged to plant more and more trees in scientific ways.

Deforestation should be strictly prohibited.

0 N o 01 A WOWN —

Environment laws should be enforced effectively.

Explain different types of teeth with their functions.
Teeth

Teeth are hard bony structures made up of tissues. They are mostly present in all types
of vertebrates except birds. Animals cannot digest food directly. It is first chewed by
teeth. Different animals have different kinds of teeth. A recent research suggests that
teeth are evolved gradually from the origin of jaws in animals. In humans there are four

different types of teeth that perform different functions.

Name Picture Functions Name Picture Functions
Biting and Chewing and
Incisors _ Premolar oo
cutting food grinding food
Piercing and Chewing and
Canines , Molar .
tearing food grinding food

14
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1. Tick (V) the correct answer.

An abiotic component of the environment is:

a aplant b  an animal

cy/ water d a microorganism
Ecosystems having rocky and sandy places with little rainfall are:

a plains b  mountains

c forests dy” deserts
Bacteria and fungi are:

a producers by decomposers

C  carnivores d predators
Organisms that make their own food are called:

a4/ producers b  consumers

¢ decomposers d predators
Interaction between living and non living things is:

a environment b\/ecosgstem C  habitat d population
21



2. Match the column A with Column B.

Column A Column B
4 N\ 4 N\
Producer fungi
\ J \ J
4 N\ 4 N\
Herbivore humans
\ 4 \ J
4 N\ 4 N\
Carnivore plant
\ Z \ J
4 N\ 4 N\
Omnivore cow
\ J \ J
4 N\ ( N\
Decomposer lion
g J g J

3. Write short answers.

Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

Name abiotic factors of an ecosystem.
Abiotic factors of an ecosystem are:

water, sunlight, soil and air.

Define an ecosystem.
Ecosystem is an interaction between living (biotic) and non-living (abiotic) things in a

specific place and given environment.

Define a food chain with an example.
Food Chain

The series of eating and being eaten in an ecosystem is called a food chain.
For example: grasshopper eats grass and it is eaten by frog. The frog a prey to a snake.
The snake my be pray to an eagle.

Why are plants called producers?
Plants are called producers because they produce their own food. They get energy from

sunlight, to prepare their food. All the animals and the humans being directly or
indirectly depend upon plants for food.

Why it is necessary to maintain a balance in an ecosystem?
It is necessary to maintain a balance in an ecosystem so that all its members can get

equal opportunities of getting food, shelter, and to save their lives.

Differentiate between carnivores and omnivores.
Carnivores: The animals which eat other animals are called carnivores. Lion, cat, frog,

shark, crocodile, etc are carnivores.
Omnivores: The animals which eat both plants and animals are called omnivores. Bear,

gorillas, some birds and humans are omnivores.
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4.

Ans:

Ans:

Ans:

Write detailed answers.
How human activities are aﬁecting the jood chains in ecosgstems?

Human activities not only disturb the ecosystem but also interrupt food chain. People
cut forests to clear land for farming, housing societies and industries which is ultimately
changing the climate and causing global warming. Human activities are adding harmful
substances to air, water and land. Due to this pollution, food chain among many
organisms is being affected. For example, fish absorb toxic materials from water. They
are consumed by sea birds or other animals. In this way, pollution transfers to other
levels of food chain and affects it negatively. Deforestation results in habitat destruction
of many plants and wild life. This may disturb the balance in a food chain by removing
or reducing the producers or consumers at different levels of food chain.
Explain the relation between predator and prey.
Predator-Prey Relationship
Some consumers show a predator-prey relationship. The living organism that hunts and
feeds on another organism is called a predator while the organism being hunted and
eaten is called the prey. For example, a zebra is killed and eaten by a lion.
Here lion is the predator and zebra is its prey. Similarly, zebra is a predator and grass is
its prey.
Explain biotic components of ecosystem, i.e., producers, consumers and decomposers.
The biotic components are plants, animals and humans. These are divided into three
groups: producers, consumers and decomposers.
Producers
Producers are green plants. Plants produce their own food. They get energy from
sunlight, to prepare their food. All the animals and the human beings directly or
indirectly depend upon plants for food. The process by which green plants transform
light energy into chemical energy and form their own food is called photosynthesis.
Consumers
The animals and the human are called consumers because they cannot make their own
food. They depend on plants and other animals for their food.
Decomposers
Decomposers are living organisms who break down the dead bodies of plants and
animals into simple particles to get food from them. Fungi and bacteria are examples of
decomposers.
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1. Tick () the correct answer.
n Cough is a symptom of:

a fever b soar throat c sweating d muscles

n Disease that can be communicated from one person to another is called:

4

contagious disease b non contagious disease

c simple disease d vital disease

m What stores energy in our body for later use?

a Vitamins b Minerals ¢ Fats d Proteins

I Proteins are important for our body because they?

a Make our bones strong b Improve our digestive system

¢ Make our muscles strong d Provide us with instant energy

What is the cause of polio?

v

a Bacteria b” Virus ¢ Housefly d Mosquito

2. Match column A with Column B.

[ Column A ] [ Column B
contagious disease meat
non-contagious disease milk
source of protein oil
source of calcium cancer
source of fats flu
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3. Write short answers.

Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

Define illness.

An unhealthy condition of the body or mind is called illness.

What are non-contagious diseases? Name any two.
Diseases that are not communicted from an infected person to another person are called

non-contagious or non-communicable diseases.

For example cancer and diabetes.

Why frequently washing hands is important?

Germs stick on your hands when you touch things. These germs can cause illness if not
removed washing hands frequently keep you clean and also reduce the chances of
getting sick.

What is a balanced diet?

Balanced Diet

This means that we should take all types of food (milk, cereals, meat, vegetables and
fruits) in a proper quantity.

What is the importance of good health?

Maintaining a healthy lifestyle is very important if you want to live a good long life. A
healthy life means good health and an active mind. Taking good care of your lifestyle
and habits makes you feel good about yourself. It is important for everyone to lead a

healthy life. There are lots of ways of being healthy. A healthy lifestyle prevents diseases

and keeps you away from chronic illness.
Differentiate between contagious and non contagious diseases?

Contagious Diseases
A disease that can be transmitted from an infected person to some other person is called
a contagious disease. Such diseases are also called communicable diseases.

For example, flu, polio, TB, hepatitis and COVID-19.
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Non-Contagious Diseases
Diseases that are not communicted from an infected person to another person are called
non-contagious or non-communicable diseases.

For example cancer and diabetes.

Wl What is the process of vaccination?
Ans: In vaccination process the weak or killed germs of any disease are injected into the
body. The antibodies are produced in the blood to fight the disease and immunity

develops in the body.
4 Name any of four major body parts?

Ans: Brain, heart, stomach and lungs.

EY What is the cause of COVID-19?

Ans: Covid-19 is caused by a virus called Corona-virus.
4. Write detailed answers.
n Define a balanced diet, name its components and explain their different sources.
Ans: Balanced Diet and its Components
Having a balanced diet means consuming different varieties of food in the right
proportions. A balanced diet helps in providing nutrients according to the needs and
demands of the body. It also makes our body strong enough to fight against germs.
Balanced diet consists of following nutrients groups:
Carbohydrates
Grain is a rich source of carbohydrates. It provides instant energy to our body.

Vitamins and Mineral Salts

Milk and other dairg products are a source of dijferent vitamins and calcium. They
make our bones and teeth strong.

Fats

Fats store energy in our body for later use. Food that provides us fats consist of oil,
butter, cheese, etc.
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Ans:

Fiber

The parts of fruits and vegetables that cannot be digested are called fibers. Cereals
contain lots of fiber. Also it is available in brown rice and whole meal bread. Basically
fiber is necessary for the body to get rid of the waste material and undigested food.

Water
It is the most important nutrient for the body. So, we must drink a lot of water daily to

stay healthy.

How does transmission of a disease occur? How can we prevent it?

Transmission of Diseases

A disease spreads when a germ from an infected person is transmitted to a healthy
person. A germ is a foreign body such as a bacterium, virus, fungus, etc. that enters the
body and affects its functioning. It happens when an infected person sneezes, coughs or
touches a healthy person.

When an infected person sneezes or coughs, germs spread in the air. When a healthy
person takes in this air, germs enter into his body and make him ill. Similarly, direct
contact by touching an infected person causes the germs to stick to a healthy person’s
body. When that persons touches his nose, mouth or eyes, germs enter the body and
infect him, causing himill.

Prevention of Diseases

It is not so easy to remain safe from infectious diseases but we can avoid them by
following different practices, such as washing hands, wearing mask and vaccination.
Vaccination

Vaccination is a simple, safe and effective way of protecting people against harmful
diseases, before they are attacked. In vaccination process the weak or killed germs of
any disease are injected into the body. The antibodies are produced in the blood to fight
the disease and immunity develops in the body.

Washing Hands

Wash your hands properly for at least 20 seconds with soap before and after meal and

after using toilet.
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1. Tick (') the correct answer.

Bl The state of matter having a fixed volume but no fixed shape is:
a solid by liquid
¢ gasis called d none of these
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N Which one of these is not matter?

a Animals b  Plants
c Air dy/” Sound

m The property which is common in liquids and gases is:

a definite shape b  definite volume

¢y no definite shape d no definite volume

m Which one of the following is a non-conductor?
a lron b Silver
¢ Gold dy/ Wood
2 The particles of matter are tightly packed in:
ay” solids b liquids
c gases d none of these

2. Match column A with Column B.

Column B

C couma (

Good conductor of heat
or electricity

Cannot conduct heat
or electricity

Definite volume and
fixed shape

Definite volume but no
fixed shape

Neither definite shape
nor volume
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3. Write short answers.

Ans:

Ans:

Ans:

Ans:

Ans:

Define matter.
Everything around us which has mass and occupies space is called matter.
Explain why solids cannot flow.

Solids cannot change their shape or size on their own and cannot flow because

the particles of solid are closely packed. So, solids cannot flow.
State the arrangement of particles in liquids.

Particles of liquid are not so closely packed as compared to solids. The force of

attraction among them is weaker than solids.

What is a conductor?

A conductor is a material or object that allows electricity to pass through it.

Why are cooking utensils made of metals?

A conductor is a material or object that allows electricity to pass through it.

4, Werite detailed answers.

Ans:

Explain the properties of each state of matter with examples.

Classification of Objects on the Basis of Physical Properties

Physical properties are the other way of classifying different objects. A physical
property is any property that is measurable. It includes mass, volume, temperature,
ability to conduct heat or electricity, ability to float or sink in water, etc.

Mass

Mass is the amount or quantity of matter in an object. It is measured in grams or
kilograms. A cup has a greater mass as compared to a pencil. Similarly, a glass full of
water is heavier than an empty glass.

Volume

Volume is the space that an object occupies. It is measured in cm3. A water in a jug has
more volume as compared to water in a glass.

Ability to Conduct Heat or Electricity

Conductivity is the ability of an object to let the electric current and heat pass through
them for example iron, copper, etc. The objects which do not allow heat or electricity to

pass through them are called non-conductors or insulators for example rubber, wood, etc.
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Ans:

Ability to Float or Sink in Water

The ability of an object to float or sink in water depends on density of the object.
Density is a ratio between mass and the volume of an object. Objects with higher

density than water sink and objects with lower density than water float.
Metals

Among solids, metals are of great importance. It is a material which is malleable, ductile

and shiny. Metals have several uses in everyday life.

Enlist the properties of metals.

Properties of Metals

Below are some of the physical properties of metals.

Appearance

Metals have glossy and shiny surfaces. Therefore, metals like gold and silver are used to
make jewellery.

Texture

Most metals have smooth texture. They are hard and strong. These are used to make
tools and machines. Some metals are soft, like gold and silver. These are used to make
jewellery, wires, etc.

Density

Metals are usually solid at room temperature and have high density.

The mass present in definite volume is called its density.

Colour

Metals come in different colours. Silver is white whereas, tin and nickle are light pink.
Gold is yellow, while copper is red in colour. Zinc, chromium and aluminium are light
blue in colour.
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Forms of Energy and
Energy Transfer

1. Tick (') the correct answer.
Which of the following is not a form of energy?

a Light b Sound C\/ Smoke d Heat
How many colours are there in sunlight or white light?
a 3 b 4 c b v’ 7

Hydroelectric power is an energy, we get from:

av'water b wind c oil d sun
The energy that flows from hot to cold object is:

a light energy b\/ heat energy ¢ soundenergy ¢ electric energy
A path way that allows the electric current flow through is called:
a current bv" Closed circuit ¢ wire d battery

2. Observe the following images, identify and write the form of energy
used in it.

3. Write short answers.

Define energy.

Ans: Energy is the ability to do work.
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Ans:

Ans:

Ans:

Ans:

Write some common sources of energy.

The largest source of energy on earth is the Sun. Flowing water, air, coal, oil,
solar panels, CNG, LPG, electricity, petrol, diesel and wood are other sources of energy.

How is temperature measured?
Temperature is measured by an instruments called thermometer.
Define transformation of energy. Give examples.

Transformation of energy is the process of converting energy from one form to another.
Chemical energy of the battery in a flashlight transforms into electrical energy. When
we switch on an electric heater, electrical energy is converted into heat energy.

How is rainbow formed?

There are seven colours in sunlight (red, orange, yellow, green, blue, indigo, violet).
After rain, lots of droplets of water remain suspended in the air. When the sunlight
passes through these water droplets, they disperse it into seven colours, like a prism.
This is called a rainbow.

4. Write detailed answers.

Ans:

Explain how can we conserve energy?

The reserves of natural resources of energy on our planet are limited. We cannot increase or
enhance the available sources. However we can save these resources. So energy conservation
is the practice of using energy economically and carefully. The energy sources can not support
us for long time. We need to conserve energy and to create awareness among people to use
the available energy sources to the minimum.

We should use such technologies that require less energy. For example we can use
energy-saving light bulbs and smart thermostats to use less energy. With the careful use of
energy, we should also try to explore new sources of energy to save and reserve for the next
generations. As energy is very important for us, we should adopt certain ways to

conserve the non-renewable sources of energy. Here are some ways:

1. Switch off all the lights and the fans while leaving the room.

2. Use natural light to the maximum. % = g g

3. Use LED bulbs. :

4. Encourage the use of energy-efficient appliances. Q 5 ‘ :“ |

5. Unplug the appliances not in use. I & "N ‘
6. Increase the use of solar appliances. ‘ |
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Describe different forms of energy with examples.

Ans: Some common forms of energy are follows:

® Light Energy

Light energy is an important form of energy that helps us see things. Sun, stars, moon,
galaxies, etc., are different natural sources of light. Torch, candle, lamps, electric bulbs,
fire, etc. are artificial (man-made) sources of light.

® Sound Energy

It is a form of the energy that is produced by vibrations in a rapidly moving object.
Vibrations cause the particles of air to move, bumping into one another and reach our
eardrum. The eardrum vibrates and sends sound signals to the brain. In this way, we
hear sound.

®  Electrical Energy

Electrical energy is another form of energy. It is produced by the flow of tiny charged
particles called electrons through metallic wires. The flow of electricity is called an
electric current. When the current passes through an appliance it works. Electric current
needs a circuit to flow. An electric circuit is a pathway, that allows the electric current
to flow through. It needs a power source like battery or power supplied in houses by
the power houses.
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Tick (/) the correct answer.

Which is not a force?

a\/ Speed b  Friction ¢ Push

Any thing that causes change in position is called:

a distance b  mass C\/J‘orce

A surface that has less friction is:

a rough bv" smooth ¢ hard

Staircase is an example of:

a lever b\/ inclined plane ¢ screw

A machine which consists of grooved wheel and a rope is called:

a wheel b  screw
C\/pulleg d gear
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3.

Ans:

Ans:

Identify the simple machines given below and write their names in given

place.

Lever Inclined Plane

Write short answers.
How are force and motion related?

Force can increase or decrease the speed of a moving body. It can also change the

direction of motion, for example, in a football match, a player passes the football to
the other player by pushing the ball in a specific direction.

Define friction.

Friction is a force that stops or tends to stop moving objects.

What is gravity?

Qur Earth is a huge magnet that pulls bodies towards its centre with a specific amount
of force. This force of attraction is called gravitational force or gravity of the Earth.

How does a simple machine make our work easier?

Machine is anything that makes our work simple and easier. A simple machine is a
simple tool used to make our work easier. Simple machine by changing the amount

and direction of force, makes our work easier.
How does a pulley work?

A load is tied to one end of the rope of the pulley other end of the rope is pulled to lift

the load.
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Ans:

Ans:

Ans:

Write detailed answers.
Explain the advantages and disadvantages of friction with examples.

Advantages of Friction

Friction plays a very important role in our daily life. Many of our daily life activities
such as walking, writing and stopping the fast moving vehicles by applying brakes
become possible due to friction.

We cannot write if there is no friction between paper and the pencil. Friction between
our shoes and the earth enables us to walk or run on the ground.

Similarly, friction between the tyres of the vehicles and the ground enables them to
stop when brakes are applied.

Friction helps in transfering of energy. It helps us to hold or to grip the object. Without
friction things would slip off our hands.

Disadvantages of Friction

Friction is very useful in our daily life but sometimes it can prove to be harmful.

For example, friction causes our shoes to wear out.

Due to friction, the tyres of the car not only get worn over time but sometimes they
can even burst.

Similarly, friction causes wear and tear of moving parts of machines over time and the

machines become unusable.
What will happen if there was no force of gravity on Earth?

lf our planet were to lose gravity only for five seconds, as we know that, it
would mean the end of life on the earth. Human and other objects will become
weightless without gravity.

lf we have no gravity force, moon would collide with the earth. The earth would

stop would collied with the Sun, and as a result, we would all perish.

What is an inclined plane? Where do we use it? Give examples.

An inclined plane is a simple machine having a flat surface with one end higher than
the other. With the help of a ramp or inclined plane we can carry things from lower to
higher places or higher to lower places easily.

We use many forms of inclined planes daily, for example cases stair, slanted roads,

slides and ramps in hospitals for carrying stretchers.

54



..7

Chapter

Earth and
Its Resources

1. Tick (') the correct answer.

Earth’s surface consists of land.

av’ 29% b 39% ¢ 49% d 59%
About what percentage of the Earth’s water is ocean water?

a  95% b 96% v 97% d 98%
All are natural resources except:

a air b  water ¢ soil d\/ plastic
Which is non-renewable energy resource?

a Wind bv” Coal ¢ Water d Solar energy
To make things reuseable, we use the technique of:

a  reducing bV’ recycling

¢ cycling d caring

2. Which of the following natural resources are renewable and which are
non-renewable? Write in the given space.
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Ans

Ans

Ans:

Ans:

Ans:

Write short answers.
Define natural resources.

A natural resource is anything found naturally that is beneficial to mankind. Air, water,

soil, forest, oil, natural gas, minerals, etc. are natural resources.

Differentiate between renewable and non-renewable resources.

Non-Renewable Resources

Natural resources that cannot be regrown, reproduced, replaced or renewed are called
non-renewable. Fossil fuels (coal, oil, gas) and many other minerals are non-renewable
resources.

Renewable Resources

These are the resources which can be reproduced, replaced or renewed after use. Water,
crops, wind, soil, sunlight, animals are renewable resources.

How soil is an important natural resource’? Explain.

Soil provides essential nutrients to plants and crops for growth. Soil acts as a water
filter and a growing medium, provides habitat to countless organisms. It is also used

to make bricks, glass and utensils.

What are fossils?

Fossils are the remains, impressions or traces of plants and animals, mostly found on
the rocks that lived long ago.

Write detailed answers.
Explain the impacts of human activities on natural resources.

The excessive use of natural resources is damaging our environment. Human activities
such as burning of fuels, extensive use of vehicles, aerosols, fertilizers, insecticides, etc.
and deforestation are affecting the environment badly.

Due to this, living things are facing problems such as climatic change, pollution (factors
damaging the ozone layer), ozone depletion, global warming and shortage of clean
drinking water. If we keep on using natural resources carelessly, then a stage will come
when we will have to face their shortage. That is why we should use natural resources
carefully and should take measures to preserve them.
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Ans:

How natural resources can be conserved?

All organisms on Earth depend on the natural resources to survive. These natural
resources are not present in unlimited quantities. Their unwise use must be stopped and
they should be conserved. Everyone can contribute to the conservation of natural
resources, by taking following measures:

Renewable resources such as wind, water and solar energy should be used to

generate electricity.

Protect air, water and land from pollution.

Instead of personal vehicles, public transport should be used to save fuel.

Deforestation should be avoided.

Plant new trees on large scale. Plants not only provide oxygen but also provide

natural habitats for countless animals.

To reduce this effect, environmental campaigns should be launched frequently for

creating awareness.
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Chapter

o|® 8 J Earth’s Weather
Y Al and Climate

1. Tick (V) the correct answer.

n Which of the following statement is true about climate?

a Day-to-day change v’ Long-term weather

¢ Can change in minutes d Relates to a small area
"l On the basis of climate the Earth is divided into:

a 2 Zones b 5 Zones v’ 3 Zones d 4 Zones
[l Climate of polar zones is:

a extremelywarm b humid C  moderate dv’ extremely cold
1] Sunrays are vertical in the zone:

a Temperate b\/Tropical c Polar d High Land

2. Write “weather” or “climate” in front of related atmospheric conditions

given below:

" Today temperature was 34°C. Weather
"Il It was snow in December 3 years ago. Climate
[l Regardless of the day, | will go to the park. Weather
"1l Average rainfall in Skardu Pakistan is 10 inches. Climate
" This winter is expected to be much colder than normal. Weather

Write short answers.

- e

What is weather?

Ans: The day to day change in the atmospheric conditions of a region is called weather.
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Ans:

Ans:

Ans:

Ans:

Ans:

Name any four elements of climate?

The average precipitation, temperature, humidity, sunshine and wind

Define global warming.

Global warming is the long-term heating of Earth’s climate system observed since the
pre-industrial period (between 1850 and 1900) due to human activities, primarily
fossils fuel burning, which increases heat-trapping green house gas level in Earth

environment.

What do you know about tropical region with respect to its climate?

Tropical zone consists of the regions located around the equator. These regions have
all 12 months of year with temperatures above 18°C. Here the sunrays fall vertically.
That is why the climate of this zone is warm. This zone has only two seasons; wet
season and dry season.

Write detailed answers.

Differentiate between weather and climate.

Weather Climate
Weather reflects short-term Climate is the average condition
conditions of the atmosphere. of atmosphere for a long period
Weather is the condition of a of time.
small area. Climate is the condition of a
Weather changes day to day large area, such as a country.
or in minutes. Climate changes over years.

Explain how climate changes with geographical location. Give example.

You might have wondered why the Earth has so many different climates?

Geographical location of a region is one of the important factors that determine the
climate of that specific region. Geographical location refers to the type of landscape.

It includes, rivers, mountains, plateaus and plain areas. The areas with low altitude
have different weather than the areas with high altitude. Similarly, the areas above
sea level are colder as compared to plain areas. Climate of a region also depends upon
the falling of sunrays either vertically or slanted. On the basis of climate, we can divide
the Earth into three zones:
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. Chapter

T Q Solar System and
Our Earth

1. Tick (') the correct answer.

BE  The fifth planet of the Solar System is:

a Earth b  Venus C\/ Jupiter d
Nl Earth’s natural satellite is:

a Mars bY" Moon ¢  Jupiter d
Ml Earth completes one round, around the Sun in:

a 1day b 30 days

¢ 360 days dv’ 365 days
Due to the annual rotation of Earth and title on its axis:

a day and night are formed b season change

¢ eclipses are formed d shadows are formed

Diameter of the Moon is:
av’ 3,500km b 3,600km
¢ 3,700km d 3,800km
Which planet in the solar system does not have any moon?
a Jupiter oY Venus
¢ Mars d Saturn
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m In which part of the Earth is Pakistan situated on the globe?

av’ Northern hemisphere b Southern hemisphere

¢ Equator d  Half in northern and half in
southern hemisphere

Wl The Earth completes its rotation in about 365 days. The period is called

av’ solar year b lunar month
¢ solar month d lunar year
m Moon completes one revolution around the Earth in about days.
a 265 b 275
¢ 285 dv’ 29.5

2. Label the planets of the solar system.

v
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3.  Write short answers.
Bl What is the solar system?

Ans: The Sun, other planets, moons and comets which revolve around the Sun make the

solar system.

ﬂ What is the importance of Sun in the solar system?

Ans: Sun is the major source of heat and light on Earth.

M Which planet is closest to the Sun?

Ans: Mercurg is closest to the Sun.

Name all planets in the solar system.

Ans: Mercury, Venus, Earth, Mars, Jupiter, Saturn, Uranus, Neptune

n What are different kinds of Earth’s movements? Explain.

Ans: Earth has two types of movements. Earth revolves around the Sun in a path called
orbit. It is called revolution. It also rotates about its own axis. It is called rotation.
It is day in the part of the Earth, which is in front of the Sun. While it is night in the

other part which is away from the Sun.

4. Write detailed answers.
i Explain different phases of the Moon.

Ans: Moon reflects the sunrays towards the Earth. So, when sunrays fall on one part of the
Moon we cannot see the other dark part. The revolution of the Moon around the Earth
makes the Moon appear as if it is changing shapes in the sky. The changing shapes of
the Moon is called the phases of the Moon. On the first day of the lunar month, we see
a tiny portion of Moon with sunlight. This is called a crescent. With the further
movement the amount of reflected light to Earth from the moon also changes. It reaches
at a stage when we can see full moon. After this its bright part gradually decreases and
eventually it disappears. The terms ‘Waning’ and ‘Waxing’ are used to describe the
phases of the Moon. ‘Waning’ means a gradual decrease and ‘Waxing’ means a gradual

increase in the size.
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Phases of Moon

First Quarter
Waxing Crescent

C

New Moon /

Waxing Gibbous

Sunlight

Full Moon

The Earth /
. r n

Waning Crescent Waning Gibbous
Third Quarter

ﬂ Explain the difference between solar and lunar eclipses.

Lunar Eclipse

Sometime during the rotation of the Moon around the Earth, the Earth comes between the
Sun and the Moon. Due to it, the sunlight does not reach the Moon.

Therefore, a shadow of the Earth is formed on the

Moon and it looks dark. This is called lunar eclipse.

<<:> Shadow of
NS the Earth
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Solar Eclipse

Sometime, during its rotation around the Earth, the Moon comes between the Earth and
the Sun. In this condition, the Sun is hidden behind the Moon and is not visible from

the Earth. A shadow of the Moon falls on the Earth. It is called

solar eclipse.

Sun
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Chapter
Technology in

Everyday Life

7104
e

1. Tick (/) the correct answer.

B Paper can be cut easily using a:
av’ paper cutter b

glue

¢ pencil d sharpener
NIl The number of corners of a prism are:

a 3 b 4
dv’ 6

c 5

Il The blood pressure 120/80mm Hg is:

a low blood pressure b high blood pressure
¢ v normal blood pressure d not possible
m Thermometer is used for checking:
a\/temperature b blood pressure ¢ heart d throat

2. Write the names of various items used in everyday life which looks like:

r N r N
i circle Ball i | cube Ice cubes

\ J \ J

r N r N
m cone lce-cream cone m prism Hut

\ J \ J

3.  Write short answers.
n Doing something creative improves our self confidence. Explain how?
Ans: By doing some thing creative, improves our self-expression and allows us to express our

feelings effectively. It gives us a sense of achievement and allows us to take pride in our

work which builds our confidence.

65



i Why paper bags are environment friendly as compared to polythene bags?

Ans: As paper bags can be recycled while polythene bags cannot be recycle.

m What is first aid?

Ans: First aid is the help given to a sick or injured person until full medical treatments
available.

How blood pressure is measured and what is normal limit of blood pressure of
a person?

Ans: Normal limit is 120/80 mm Hg. Having high or low blood pressure can lead to
different health problems. The instrument used to measure blood pressure is called

blood pressure apparatus.

Name different things of first aid box.
g

Ans: Medicines, thermometer, bandages, cotton, cream, cold pack, alcohol, scissors,
gauzes, medical tap.

4, Write detailed answers.
n Write different uses of mobile phone.

Ans: In the near past mobile phones were usually used for making calls. But now with the
help of advanced technology we have smart phones. The smart phone has got many
Apps which are very helpful to us. For example, it can be used as an alarm clock,
calendar and camera, etc. We can surf the internet using a phone to get information,

latest news or to solve any complex calculation. They are not less than a computer.

Nl How to use a digital blood pressure monitor?

Ans: How to Use Digital Blood Pressure Monitor Cuff

1. Put the cuff around the arm.

Internal Process

2. Push the ON button of the automatic model.

3. The cuff will inflate by filling air inside it and reading
will start appearing on the display screen.

4. Look at the display screen to see your patient blood ,
pressure reading. - - B .

: _ = R :
5. Push the exhaust button to release the air from the ' = .l
cuff and remove it from the arm. Display ° @
6. Keep the record of blood pressure of the patient. Digital Reading
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